Lesson 1-7: Multiply Rational Numbers
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Sample answer: If the rational
numbers have different signs, the
product is negative; if the rational
numbers have the same sign, the
product is positive.

Sample answer: Write the numbers
in the same form and multiply. Since
the signs are different, the product is

negative.

Sample answer: The number line
shows that the negative number, - %

, iIs multiplied 3% times and the

product, - 2%, is negative.
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b. Sample answer: Ming might not
have simplified the first factor to be a

positive % So she ended up with

the wrong sign for the product.
52X (- 6), - 5= X (- 2), 4= x 4=

a. 10 x (-1.3) = -13
b. A



